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2. �?D545?<FL E>EF46 EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5= 

E>7?4E=> ?D<?>65=<N 3 > =4EF>OM5<G ?D<>47G. 

3. �7D4=<G5=<O (>5D5<5=5=<O) ?D46 =4 ?>?L7>64=<5 75<5?L=O<< 

GG4EF>4<<, 6E>4OM<<< 6 >ED4==O5 7>=O EGM5EF6GNM<E 
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�D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 20 =>O5DO 2000 7. 7 878. 

4. �<=<EF5DEF6G 7D44>EFD><F5?L=>= 45OF5?L=>EF< < D476<F<O 

47?><5D4F<= �<657>D>4E>>= >5?4EF<: 
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�D4=<FO >ED4==OE 7>= EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5=, 
D4E?>?>65==OE 6 7>D>4E>>< >>DG75 7>D>4 �D74<4E �<657>D>4E>>= >5?4EF< 

 

1. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, 4. �4DL56>4, G?. .5<?5==4O, 4. 46 (�-2-

0896�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
?D>FO65==>EFL: 8 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, 4. �4DL56>4, G?. .5<?5==4O, 4. 46 (>444EFD>6O= =><5D 
52:41:1207002:1142) 

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 431651.18 2194315.00 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 431648.99 2194304.82 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 431652.90 2194303.97 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 431655.09 2194314.15 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 431651.18 2194315.00 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

2. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, E. �<G4=7<=>, G?. �>64O ?<=<O, 4.8 (�-2-

0560�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
?D>FO65==>EFL: 45 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, E. �<G4=7<=>, G?. �>64O ?<=<O, 4.8 (>444EFD>6O= =><5D 
52:41:1401002:2809) 

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < 
�5F>4 >?D545?5=<O >>>D4<=4F < 

ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 428084.47 2197716.86 �5F>4 E?GF=<>>6OE 75>457<G5E><E - 
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<7<5D5=<= (>?D545?5=<=), 0.10 

2 428083.63 2197716.37 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 428085.66 2197712.92 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 428088.11 2197714.36 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 428096.19 2197717.50 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 428094.33 2197720.41 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 428098.90 2197722.21 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 428110.92 2197727.75 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

9 428108.99 2197731.58 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

10 428108.59 2197732.56 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

11 428107.31 2197735.10 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

12 428103.74 2197733.29 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

13 428104.95 2197730.92 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

14 428105.33 2197729.94 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

15 428105.48 2197729.65 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

16 428097.32 2197725.89 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

17 428088.36 2197722.35 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

18 428090.20 2197719.46 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

19 428088.06 2197718.64 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

20 428086.85 2197720.75 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

21 428085.07 2197723.77 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

22 428081.62 2197721.74 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

23 428083.39 2197718.73 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 428084.47 2197716.86 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

3. «�47>?D>6>4 - 66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?., 
�D74<4EE><= D4=>=, E. �4<5=>4, G?. �4<5=E>4O, 4. 5 (�-2-

0691�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
?D>FO65==>EFL: 3 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?., 



3 

 

�D74<4EE><= D4=>=, E. �4<5=>4, G?. �4<5=E>4O, 4. 5 (>444EFD>6O= =><5D 
52:41:1207003:1581) 

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 431460.82 2195544.42 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 431460.31 2195548.39 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 431454.13 2195547.63 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 431454.60 2195543.66 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 431460.82 2195544.42 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

4. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, E. �<G4=7<=>, G?. �GD<OL, 4.73 (�-2-

0842�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
?D>FO65==>EFL: 12 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, E. �<G4=7<=>, G?. �GD<OL, 4.73 (>444EFD>6O= =><5D 
52:41:1401002:2808) 

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < 
�5F>4 >?D545?5=<O >>>D4<=4F < 

ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 428616.75 2197005.58 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 428630.24 2197006.80 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 428629.88 2197010.78 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 428616.39 2197009.56 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 428616.75 2197005.58 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

5. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, E. �>64>E4, G?. �4?<=<=4, 4. 57 (�-2-

0414�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
?D>FO65==>EFL: 15 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, E. �>64>E4, G?. �4?<=<=4, 4. 57 (>444EFD>6O= =><5D 
52:41:0502001:2505) 
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�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 440621.38 2183279.25 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 440620.00 2183282.93 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 440626.58 2183285.67 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 440625.05 2183289.36 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 440614.90 2183285.15 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 440617.64 2183277.85 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 440621.38 2183279.25 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

6. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, 4. �<O6>G=>5, G?. �5E=4O, 4. 57 (�-2-

0840�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
?D>FO65==>EFL: 8 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, 4. �<O6>G=>5, G?. �5E=4O, 4. 57 (>444EFD>6O= =><5D 
52:41:0501002:862) 

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 443655.48 2184132.17 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 443656.34 2184136.08 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 443647.89 2184137.95 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 443647.02 2184134.05 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 443655.48 2184132.17 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

7. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, c. �>64>E4, G?. �4?<=<=4, 4. 49 (�-2-

0453�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
?D>FO65==>EFL: 43 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 
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�D74<4EE><= D4=>=, c. �>64>E4, G?. �4?<=<=4, 4. 49 (>444EFD>6O= =><5D 
52:41:0502001:2506) 

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 440550.29 2183251.25 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 440549.46 2183255.25 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 440547.86 2183257.77 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 440530.26 2183250.49 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 440511.87 2183240.82 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 440513.73 2183237.28 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 440531.96 2183246.87 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 440545.91 2183252.64 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

9 440546.37 2183250.43 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 440550.29 2183251.25 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

8. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, E. '5D=GE4, G?. %65D4?>64, 4. 178 (�-2-

0466�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
?D>FO65==>EFL: 3 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, E. '5D=GE4, G?. %65D4?>64, 4. 178 (>444EFD>6O= =><5D 
52:41:0206004:2256) 

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 449179.09 2198720.04 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 449177.22 2198722.81 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 449174.25 2198725.35 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 449171.65 2198722.31 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 449174.20 2198720.13 �5F>4 E?GF=<>>6OE 75>457<G5E><E - 
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<7<5D5=<= (>?D545?5=<=), 0.10 

6 449175.77 2198717.80 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 449179.09 2198720.04 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

9. «�>475<=O= 747>?D>6>4 446?5=<5< 4> 0,3 ��4 >F F>G>< 
?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG: 
�<657>D>4E>4O >5?4EFL, 7. �D74<4E, G?. �47>F75D=>, EFD.2 (�-2-0784�/�-�)», 
=47=4G5=<5: �47>?D>6>4 ED54=57> 446?5=<O, ?D>FO65==>EFL: 149 <, 44D5E: 
$>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 7. �D74<4E, G?. �47>F75D=>, 
EFD.2 (>444EFD>6O= =><5D 52:40:0000000:5321) 
 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 428912.98 2206650.32 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 428909.01 2206650.81 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 428908.51 2206646.79 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 428897.46 2206648.27 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 428877.73 2206652.02 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 428857.02 2206657.50 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 428837.04 2206666.51 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 428819.77 2206680.41 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

9 428820.73 2206718.72 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

10 428816.73 2206718.82 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

11 428815.73 2206678.53 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

12 428834.94 2206663.07 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

13 428855.68 2206653.72 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

14 428876.85 2206648.12 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

15 428896.82 2206644.31 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

16 428911.97 2206642.29 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

17 428912.31 2206644.89 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 
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18 428912.40 2206645.59 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 428912.98 2206650.32 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

 

 

_______________ 
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>5N5>F4 

%>EF46 E5F<, 
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>ED4==4O 7>=4 

1 

«�47>?D>6>4-66>4 > 6<?><G 4><G ?> 
44D5EG: �<657>D>4E>4O >5?4EFL, 

�D74<4EE><= D4=>=, 4. �4DL56>4, G?. 
.5<?5==4O, 4. 46 (�-2-

0896�/2022/��/��)», =47=4G5=<5: 
�47>?D>6>4 =<7>>7> 446?5=<O, 

?D>FO65==>EFL: 8 < 

$>EE<=E>4O 
$545D4F<O, 

�<657>D>4E>4O 
>5?4EFL, �D74<4EE><= 

D4=>=, 4. �4DL56>4, G?. 
.5<?5==4O, 4. 46 

52:41:1207002:1142 

�4DG6=O= 
747>?D>6>4 =<7>>7> 

446?5=<O 

?>?<MF<?5=, EF4?L 
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?>?<MF<?5=>6OE 
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>5>7=4G5=<O FD4EEO 
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G>?44>4 E<7=4?L=>= 

?5=FO. 
�ED4==4O 7>=4 

747>D4E?D545?<F5?L
=>= E5F< 

?D<=<<45FEO 64>?L 
FD4EE =4DG6=OE 
747>?D>6>4>6 3 6 
6<45 F5DD<F>D<<, 

>7D4=<G5==>= 
GE?>6=O<< 
?<=<O<<, 

?D>E>4OM<<< =4 
D4EEF>O=<< 2 

<5FD>6 E >464>= 
EF>D>=O 

747>?D>6>44. 
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2 

«�47>?D>6>4-66>4 > 6<?><G 4><G ?> 
44D5EG: �<657>D>4E>4O >5?4EFL, 

�D74<4EE><= D4=>=, E. �<G4=7<=>, 
G?. �>64O ?<=<O, 4.8 (�-2-

0560�/2022/��/��)», =47=4G5=<5: 
�47>?D>6>4 =<7>>7> 446?5=<O, 

?D>FO65==>EFL: 45 < 

$>EE<=E>4O 
$545D4F<O, 

�<657>D>4E>4O 
>5?4EFL, �D74<4EE><= 
D4=>=, E. �<G4=7<=>, 
G?. �>64O ?<=<O, 4.8 

52:41:1401002:2809 

�4DG6=O= 
747>?D>6>4 =<7>>7> 

446?5=<O 

?>?<MF<?5=, EF4?L 

 

�4>?L FD4EE 
=4DG6=OE 
?>475<=OE 

747>?D>6>4>6 <7 
?>?<MF<?5=>6OE 

FDG5 4?O 
>5>7=4G5=<O FD4EEO 

?D54GE<>FD5=4 
G>?44>4 E<7=4?L=>= 

?5=FO. 
�ED4==4O 7>=4 

747>D4E?D545?<F5?L
=>= E5F< 

?D<=<<45FEO 64>?L 
FD4EE =4DG6=OE 
747>?D>6>4>6 3 6 
6<45 F5DD<F>D<<, 

>7D4=<G5==>= 
GE?>6=O<< 
?<=<O<<, 

?D>E>4OM<<< =4 
D4EEF>O=<< 2 

<5FD>6 E >464>= 
EF>D>=O 

747>?D>6>44. 

3 

«�47>?D>6>4 - 66>4 > 6<?><G 4><G 
?> 44D5EG: �<657>D>4E>4O >5?., 

�D74<4EE><= D4=>=, E. �4<5=>4, G?. 
�4<5=E>4O, 4. 5 (�-2-

0691�/2022/��/��)», =47=4G5=<5: 
�47>?D>6>4 =<7>>7> 446?5=<O, 

?D>FO65==>EFL: 3 < 

$>EE<=E>4O 
$545D4F<O, 

�<657>D>4E>4O >5?., 
�D74<4EE><= D4=>=, E. 

�4<5=>4, G?. 
�4<5=E>4O, 4. 5 

52:41:1207003:1581 

�4DG6=O= 
747>?D>6>4 =<7>>7> 

446?5=<O 

?>?<MF<?5= 

 

�4>?L FD4EE 
=4DG6=OE 
?>475<=OE 

747>?D>6>4>6 <7 
?>?<MF<?5=>6OE 

FDG5 4?O 
>5>7=4G5=<O FD4EEO 

?D54GE<>FD5=4 
G>?44>4 E<7=4?L=>= 

?5=FO. 
�ED4==4O 7>=4 

747>D4E?D545?<F5?L
=>= E5F< 

?D<=<<45FEO 64>?L 
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FD4EE =4DG6=OE 
747>?D>6>4>6 3 6 
6<45 F5DD<F>D<<, 

>7D4=<G5==>= 
GE?>6=O<< 
?<=<O<<, 

?D>E>4OM<<< =4 
D4EEF>O=<< 2 

<5FD>6 E >464>= 
EF>D>=O 

747>?D>6>44. 

4 

«�47>?D>6>4-66>4 > 6<?><G 4><G ?> 
44D5EG: �<657>D>4E>4O >5?4EFL, 

�D74<4EE><= D4=>=, E. �<G4=7<=>, 
G?. �GD<OL, 4.73 (�-2-

0842�/2022/��/��)», =47=4G5=<5: 
�47>?D>6>4 =<7>>7> 446?5=<O, 

?D>FO65==>EFL: 12 < 

$>EE<=E>4O 
$545D4F<O, 

�<657>D>4E>4O 
>5?4EFL, �D74<4EE><= 
D4=>=, E. �<G4=7<=>, 

G?. �GD<OL, 4.73 

52:41:1401002:2808 

�4DG6=O= 
747>?D>6>4 =<7>>7> 

446?5=<O 

?>?<MF<?5=, EF4?L 

 

�4>?L FD4EE 
=4DG6=OE 
?>475<=OE 

747>?D>6>4>6 <7 
?>?<MF<?5=>6OE 

FDG5 4?O 
>5>7=4G5=<O FD4EEO 

?D54GE<>FD5=4 
G>?44>4 E<7=4?L=>= 

?5=FO. 
�ED4==4O 7>=4 

747>D4E?D545?<F5?L
=>= E5F< 

?D<=<<45FEO 64>?L 
FD4EE =4DG6=OE 
747>?D>6>4>6 3 6 
6<45 F5DD<F>D<<, 

>7D4=<G5==>= 
GE?>6=O<< 
?<=<O<<, 

?D>E>4OM<<< =4 
D4EEF>O=<< 2 

<5FD>6 E >464>= 
EF>D>=O 

747>?D>6>44. 



4 

 

5 

«�47>?D>6>4-66>4 > 6<?><G 4><G ?> 
44D5EG: �<657>D>4E>4O >5?4EFL, 

�D74<4EE><= D4=>=, E. �>64>E4, G?. 
�4?<=<=4, 4. 57 (�-2-

0414�/2022/��/��)», =47=4G5=<5: 
�47>?D>6>4 =<7>>7> 446?5=<O, 

?D>FO65==>EFL: 15 < 

$>EE<=E>4O 
$545D4F<O, 

�<657>D>4E>4O 
>5?4EFL, �D74<4EE><= 
D4=>=, E. �>64>E4, G?. 

�4?<=<=4, 4. 57 

52:41:0502001:2505 

�4DG6=O= 
747>?D>6>4 =<7>>7> 

446?5=<O 

?>?<MF<?5=, EF4?L 

 

�4>?L FD4EE 
=4DG6=OE 
?>475<=OE 

747>?D>6>4>6 <7 
?>?<MF<?5=>6OE 

FDG5 4?O 
>5>7=4G5=<O FD4EEO 

?D54GE<>FD5=4 
G>?44>4 E<7=4?L=>= 

?5=FO. 
�ED4==4O 7>=4 

747>D4E?D545?<F5?L
=>= E5F< 

?D<=<<45FEO 64>?L 
FD4EE =4DG6=OE 
747>?D>6>4>6 3 6 
6<45 F5DD<F>D<<, 

>7D4=<G5==>= 
GE?>6=O<< 
?<=<O<<, 

?D>E>4OM<<< =4 
D4EEF>O=<< 2 

<5FD>6 E >464>= 
EF>D>=O 

747>?D>6>44. 

6 

«�47>?D>6>4-66>4 > 6<?><G 4><G ?> 
44D5EG: �<657>D>4E>4O >5?4EFL, 

�D74<4EE><= D4=>=, 4. �<O6>G=>5, 
G?. �5E=4O, 4. 57 (�-2-

0840�/2022/��/��)», =47=4G5=<5: 
�47>?D>6>4 =<7>>7> 446?5=<O, 

?D>FO65==>EFL: 8 < 

$>EE<=E>4O 
$545D4F<O, 

�<657>D>4E>4O 
>5?4EFL, �D74<4EE><= 
D4=>=, 4. �<O6>G=>5, 

G?. �5E=4O, 4. 57 

52:41:0501002:862 

�4DG6=O= 
747>?D>6>4 =<7>>7> 

446?5=<O 

?>?<MF<?5=, EF4?L 

 

7 

«�47>?D>6>4-66>4 > 6<?><G 4><G ?> 
44D5EG: �<657>D>4E>4O >5?4EFL, 

�D74<4EE><= D4=>=, c. �>64>E4, G?. 
�4?<=<=4, 4. 49 (�-2-

0453�/2022/��/��)», =47=4G5=<5: 
�47>?D>6>4 =<7>>7> 446?5=<O, 

?D>FO65==>EFL: 43 < 

$>EE<=E>4O 
$545D4F<O, 

�<657>D>4E>4O 
>5?4EFL, �D74<4EE><= 
D4=>=, c. �>64>E4, G?. 

�4?<=<=4, 4. 49 

52:41:0502001:2506 

�4DG6=O= 
747>?D>6>4 =<7>>7> 

446?5=<O 

?>?<MF<?5=, EF4?L 

 

8 

«�47>?D>6>4-66>4 > 6<?><G 4><G ?> 
44D5EG: �<657>D>4E>4O >5?4EFL, 

�D74<4EE><= D4=>=, E. '5D=GE4, G?. 
%65D4?>64, 4. 178 (�-2-

0466�/2022/��/��)», =47=4G5=<5: 
�47>?D>6>4 =<7>>7> 446?5=<O, 

?D>FO65==>EFL: 3 < 

$>EE<=E>4O 
$545D4F<O, 

�<657>D>4E>4O 
>5?4EFL, �D74<4EE><= 
D4=>=, E. '5D=GE4, G?. 

%65D4?>64, 4. 178 

52:41:0206004:2256 

�4DG6=O= 
747>?D>6>4 =<7>>7> 

446?5=<O 

?>?<MF<?5= 

 

�4>?L FD4EE 
=4DG6=OE 
?>475<=OE 

747>?D>6>4>6 <7 
?>?<MF<?5=>6OE 

FDG5 4?O 
>5>7=4G5=<O FD4EEO 

?D54GE<>FD5=4 
G>?44>4 E<7=4?L=>= 



5 

 

9 

«�>475<=O= 747>?D>6>4 446?5=<5< 
4> 0,3 ��4 >F F>G>< ?D<E>54<=5=<O 
> D4E?D545?<F5?L=><G 747>?D>6>4G 

4> >5N5>F4 ?> 44D5EG: 
�<657>D>4E>4O >5?4EFL, 7. �D74<4E, 
G?. �47>F75D=>, EFD.2 (�-2-0784�/�-

�)», =47=4G5=<5: �47>?D>6>4 
ED54=57> 446?5=<O, ?D>FO65==>EFL: 

149 < 

$>EE<=E>4O 
$545D4F<O, 

�<657>D>4E>4O 
>5?4EFL, 7. �D74<4E, 
G?. �47>F75D=>, EFD.2 

52:40:0000000:5321 

�4DG6=O= 
747>?D>6>4 ED54=57> 

446?5=<O 

?>?<MF<?5= 

 

?5=FO. 
�ED4==4O 7>=4 

747>D4E?D545?<F5?L
=>= E5F< 

?D<=<<45FEO 64>?L 
FD4EE =4DG6=OE 
747>?D>6>4>6 3 6 
6<45 F5DD<F>D<<, 

>7D4=<G5==>= 
GE?>6=O<< 
?<=<O<<, 

?D>E>4OM<<< =4 
D4EEF>O=<< 2 

<5FD>6 E >464>= 
EF>D>=O 

747>?D>6>44. 
 

 

 

_______________ 


